Tableaux des Puissances de Dix (F)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (F) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,001 10 000 100 0,1
28 0,028 280 000 2 800 2,8
84 0,084 840 000 8400 8,4
85 0,085 850 000 8500 8,5
23 0,023 230 000 2 300 2,3
93 0,093 930 000 9300 9,3
X 100 1000 10 0,0001
47 4700 47 000 470 0,0047
4 400 4 000 40 0,0004
69 6 900 69 000 690 0,0069
93 9300 93 000 930 0,0093
75 7 500 75000 750 0,0075
X 0,001 10 0,0001 0,01
55 0,055 550 0,0055 0,55
89 0,089 890 0,0089 0,89
41 0,041 410 0,0041 0,41
2 0,002 20 0,0002 0,02
42 0,042 420 0,0042 0,42
X 10 000 10 100 1 000
64 640 000 640 6 400 64 000
13 130 000 130 1300 13000
86 860 000 860 8 600 86 000
42 420000 420 4 200 42 000
32 320 000 320 3200 32000
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